
Ma 227 Homework 5 Solutions Fall 2013
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12.2 Pg. 843 Problems 5,7,25, 27

5)


0

2 
0


2 x sinydydx  

0

2
xdx 

0


2 sinydy  x2

2 0

2
−cosy0


2  2 − 00  1  2

7)


0

2 
0

1
2x  y8dxdy  

0

2 1
2

2xy9

9 x0

x1
dy

Use substitituon: u  2x  y  dx  1
2 du

1
18


0

2
2  y9 − 0  y9 dy  1

18
2y10

10 − y10

10 0

2
 1

18 4
10 − 210 − 210 − 010

 1,046,528
180  261,632

45

25) Find the volume of the solid that lies under the plane 3x  2y  z  12 and above the
rectangle R  x,y|0 ≤ x ≤ 1,−2 ≤ y ≤ 3
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27) Find the volume of the solid that lies under the elliptic paraboloid x2
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12.3 Pg. 850-51 Problems #5, 7, 17, 21, 25, 41, 45
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The graph of D is shown below. Graph 2D Polare was used to get it.
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Because the region of integration is
D  x,y|0 ≤ y ≤ x , 0 ≤ x ≤ 4  x,y|y2 ≤ x ≤ 4,0 ≤ y ≤ 2
we have
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Because the region of integration is
D  x,y|0 ≤ y ≤ lnx, 1 ≤ x ≤ 2  x,y|ey ≤ x ≤ 2,0 ≤ y ≤ ln2
we have
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